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Mathematical Formulae

Compound Interest

r n
Total t= P|1+—
otal amoun ( 100]

Mensuration

Curved surface area of a cone = nrl

Surface area of a sphere = 4n7”

Volume of a cone = %nrzh
4
Volume of a sphere = 3 r

Area of triangle ABC = %absinC
Arc length = &, where 8 is in radians

1 :
Sector area = > r*6@ where @ is in radians

Trigonometry

a b ¢
sind sinB sinC

g =b*+c*—2bc cosA

Statistics

zfx

Mean= ——

Lf

Standard Deviation = J o S/
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Answer all the questions.

{ 20
11+, (<112 -5
17 -1

8x0.6

1 (a) Calculate

Write your answer correct to 4 significant figures.

Answer ..., (1]
(b)  Write your answer to part (a) in standard form.
Answer ......oiiiiiiiiiiinn [1]
2 Expand and simplify (2x+5)(3+4x).
Answer ..., [2]
3 Solve
(@ 3-4x=21.
Answer ... [1]

®) 2x<3x+1<13,
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4

4 (a) Express 4312 as a product of its prime factors.

(b) Given 588=22x3x7%.
Find

()  The largest integer which is a factor of both 588 and 4312.

(ii) The smallest integer which is the multiple of both 588 and 4312.

(iii) The smallest integer value of m such that 4312m is a perfect square.
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5  Given that the coordinates of point 4 is (-2,11) and point B is (5, —11).
Find

(a) length 4B,

Answer ......ciiiiiiiiiiniin.. [2]
(b)  equation of the straight-line AB.
Answer ... [3]
9x2 -4
6 Simplify ————.
12x“—x~6
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7 Solve 2 —-3= )
x+1 2x—5
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8 The table below shows a multiple-choice test Sam and Roger took.

Correct No attempt Incorrect
Sam 14 5 1
Roger 15 0 5
(a)  Represent this information in a 2x3 matrix, S.
Answer S=
(b)  The marks are awarded as follow:
Correct = 2 marks
No attempt = 0 mark
Incorrect = —1mark
Represent the information in a 3x1matrix, T.
Evaluate ST
Answer

(c)  Explain what your answer to (b) represents.

BP-~743

(1]

(2]

...................................................................................................

............................................................................................................

............................................................................................................

.....................................................................................................
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9  TFactorise completely.

(a) abc—-3c—-6+2ab

M) gox*-5

10 Ken divides his monthly salary into daily expenses, spending and saving in the ratio 3:4:5
respectively. Later he decides to spend $1200 more daily the new ratio become 9:8:7.

Calculate his monthly salary.
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11 John conducted a survey on the average time spent reading per week. This survey was
carried out outside Woodlands Regional Library. The table below represents the survey
results.

Time spends

(#) in hours 0<t<2 | 2<t<4 4<t<b 6<t<8 | 8<¢<10 | 10<r<12

Frequency 3 § 9 15 3 2

(a)  Calculate the percentage of people spend between 6 to 8 hours per week in reading,

(b)  Calculate the average time spend in reading.

(¢)  John concludes that the result in part (b) is the average of time spent in reading by a
Singaporean. Do you agree, give a reason.

...................................................................................................
............................................................................................................
............................................................................................................

............................................................................................................
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10
12 The expression x* —4x+7 can be written in the form of {x— a)2 +b

(a) Find the value of @ and b.

Answer a=..............o. 13
b= m
(b)  Explain why the expression gives a minimum value.
Answer
[2]

(¢}  Write down the minimum value.
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13 The diagram shows a quadrilateral WXYZ.

w V4
X Y
(a)  Construct the perpendicular bisector of XY. (1]
(b)  Construct the bisector of angle WXY. [1]

(¢)  Point 4 in the quadrilateral is equidistant from X and ¥ and is closer to the line WX
then to line XY.
Mark and label a possible location for point 4 in the diagram above. [1}
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14 In the diagram ABC is a straight line, BC = 10 cm, CD=8 cm and BD =6 cm.

C

10 cm

D

(a)  Explain why a circle that passes through B, C and D can be drawn in the above

diagram.
Give reasons for each step of your working.

............................................................................................................
............................................................................................................

(b) Hence find the exact value of cos ABD.
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15  The diagram shows a parallelogram ABCD. APQ, BRQ, CRS and DPS are straight lines
which bisect angles 4, B, C and D respectively.

D C
0
R
S
A B
(a)  Show that angle PAD = angle RCB. [2]
Answer:
(b)  Prove that triangles ADP and CBR are congruent. 31

Answer:




BP-750

14

16 X, Y and Z lie on a circle with centre O and radius 4 cm.
Angle XOY = 2.5 radians.

Z

X

(a)  Find the area of minor sector XOY.

() (@) Write down, intermof 7, for reflex angle XOY.

(i) Find the length of the arc X7V, in term of 7 .

(iti) The major sector XZYO is used to make a cone.
Calculate the base radius of the cone.
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17 (a)  Simplify.

3
) a—2x27a6
3a
. 4
LU
4924
(b) 7b -

Answer

=343% Find an expression for b in terms of @ and ¢.

..........................

..........................

..........................

BP-~751
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18 ABCDE is part of a regular polygon which has an exterior angle of 20°. CDLM is a square.

C D

o)

B X E

Find

(a) the value of x,

Answer ... 2]

(b) thevalueofy.
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19  The diagram below shows the speed-time graph of a car’s journey.

24f-mmmmmnnee

Speed
(m/s)

[y

40 60
Time (seconds)

For this journey, calculate

(a)  the acceleration during the first 40 seconds,

(a)  The total distance travelled.
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18

£={x:xisanintegerand —3<x<7}
P={x:3<x<3}
O={x:0<x<3}

(a) Draw a Venn diagram below to illustrate this information. (1]

&

(b)  List the elements in

® P,

(i) PnO.

(¢)  Write down n{P'wQ)
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21 The first four terms in a sequence of numbers, x1, x2, X3, Xa, ... are given below.

x=2(0)+1=1
x=2(1)+3=5
x3=2(2)+5=9
x4=2(3)+7=13

(a)  Write down an expression for xs.

(b)  Find an expression, in term of #, for the #” term, x», of the sequence.

(¢)  Evaluate xzo

(d)  Explain why 203 is not a term of this sequence.

...................................................................................................
............................................................................................................
............................................................................................................

............................................................................................................
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22 A survey was carried out to find out the number of emails received in a week by each of a
group of students.

The table below represents the result of the survey.

Number of emails (n) Frequency
0<n<10 8
10<r<20 13
20<n<30 25
30<sn<40 30
A0<n<50 18
50<n <60 6

(a)  Find the probability that two students, chosen in random, both received at least 40 emails.

(b)  Which interval contain the median number of emails received by the students.

(¢)  Calculate an estimate of the mean number of emails received by the students.

Answer .o [1]

(d) Calculate an estimate of the standard deviation.

END OF PAPER 1
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Compound Interest

Mensuration

Trigonometry

Statistics

2

Mathematical Formulae

Total amount = P[l + ﬂr—)

100

Curved surface area of a cone =mr!

Surface area of a sphere = 4w

Volume of a cone = %nrzh

4
Volume of a sphere = 3 nr’

Area of a triangle ABC = -;— absm(

Arc length = 78, where # is in radians

Sector area = %rzﬁ _where @ is in radians

a b

c

sin A - sin B - sinC

a? =b® +c¢? —2bccos 4

Mean

Standard deviation =

_

i

xf

[

I
3f

;
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Answer all the questions.

1 (a) b:—-—+-%
c

(1)  Find the value of bwhen a=3and c=4.

Answer b= ..., [1]

(i) Rearrange the formula to make @ the subject.

Answer ..., [3]
(b) Solve these simultaneous equations.
dx-y =-11
S5x+3y =-1
Answer X= ...,
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— 5 —1
3x-1 2x+3

(¢) Solve the equation

Give your solutions correct to three decimal places.

2 (a) Timmy wants to invest a sum of money i one of the following investment plans.

Plan 4 Pays 2% simple interest per year

Plan B Pays 2% compound interest per year

Which investment plan is the better choice for Timmy?
Explain your answer.

................................................................................................



BP-~761
5

(b) Mary deposits $8000 in a savings account at a simple interest rate of 3.5% per
year. Calculate the total value of her savings at the end of 12 years.

(c¢) Peter invested $50 000 in an investment plan from 2010 to 2024.
The value of his investment increased by 7% at the end of every year.
At the end of 2024, the total value of Peter’s investment is $65 320.

Calculate the value of 7.
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(d) The current exchange rate between Singapore dollars (SGD) and Thailand baht
(THB) is given as SGD 1 = THB 27.16.

Susan bought a bag while shopping in Thailand. The original price of the bag was
THB 56 000 and Susan bought it at a 15% discount.

Susan paid for the bag using her credit card which charged her an additional 2%
fee for overseas transaction.

Calculate the total amount, including credit card fee, that Susan had to pay in
Singapore dollars (SGD). Correct your answer to the nearest cent.



(a) The table of values for y =x+ 3 7 is given below.
x

0.5

1

1.5 2

X
Y

3.5

-1.0

=22 | 2.5

-2.3

0.7

Find the value of .

BP-~763
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(¢) Use your graph to find the solutions to x+ 2. 5 in the range of 0.5<x<7.
x

(d) By drawing a tangent, find the gradient of the curve at (4, —1.8).

Answer Gradient= ............cooiiininninn [2]

(€) The solutions of Px* +Qx+5=0 are the same as the x-coordinates of the
intersections between the graph y=x+ 2 7 and the line y=—x+3.
x

Find the values of P and Q.
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4 (a) The diagram below shows two circles, with the same centre at O.
Points 4, B and C lie on the bigger circle and point D lies on the smaller circle.
AC is a straight line that passes through the centre of both circles.
AB and BC are both tangents to the smaller circle.

B

()  Show that triangles ABC and ODC are similar.
Give a reason for each statement you made.

(2]

Answer

(ii) The area of triangle ODC is given as 15cm?.
Find the area of trapezium ABDO.
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(b)

PORS are points on the circumference of a circle, centre 0.
Angle OQR =50° , angle PSR = 73° and obtuse angle SOQ =156°.

() Find angle QRS
Give a reason for each step of your working.

(ii) Find angle PSO.
Give a reason for each step of your working.
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(i) Find angle PQO .
Give a reason for each step of your working,

(iv) Explain whether line PQ parallel to line SR.
Support your answer with workings.

.................................................................................

.............................................................................................
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§ The masses of two batches of 400 steel bars produced by factory 4 and B were measured
and recorded. The cumulative frequency graph below shows the masses.

400 +

Factory B -

300 w=:

I

200 4 B

Cumulative Frequency

1004

0 gp 70 - 80 .90 100 110 .
Mass (kg) '

{(a) For the steel bars produced by factory 4, find

(i) the median,

(ii) the interquartile range.

(b) The steel bars produced by factory B are heavier than those produced by factory 4.
Do you agree? Explain your answer.

..................................................................................................

..................................................................................................
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() Which factory is more consistent in the production of steel bars?
Support your answer with workings.

..................................................................................................

..................................................................................................

(d) One steel bar is chosen at random from factory 4 and another steel bar is chosen at
random from factory B.

Find, as a fraction in its simplest form, the probability that both steel bars chosen
are more than 80kg.

BP-769
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. . 5
6 (a) Point A is translated to point B by the vector [ 4 ] :

. oo (3
The position vector of point B 1s (8) .

@ Find |04

Answer ... [2]
(i) P is a point that lies on 4B and has coordinates (, 10).
Find the value of k.
Answer k= ... [2]
(b) 0
P
\7p + 4r
B P
3p
>
) 4r R
OPOR is a quadrilateral.

~> — —
OP=3p, OR=4r and RO =Tp+4r.

B is a point on PR such that PB: BR=3:2.

BP-~770
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Write each of the following in terms of pand r.
Give your answer in their simplest form.

—>
O og,

Answer . [1]
9
@ PO,
ANSWEr ..o, [1]
_.>
(iii)y OB.
ARSWEF ..o [3]

..................................................................................................

BP-771




16

A North

Building

550 m

780 m

C

The diagram above shows a park ABCD that is on horizontal ground, crossed by a
straight path AC. Point B is due north of C.

AB=700 m, BC=550 mand CD=780 m.
Angle ABC =115°and angle ACD =29°.

(a) Show that length 4C=1057.32 m, correct to two decimal places.

Answer [2]

(b) Calculate the bearing of D from C.

BP-772
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(¢) Find the total area of the park ABCD.
Correct your answer to the nearest whole number.

(d) A vertical building is located at point 1.
The angle of elevation of the top of the building from point C is 10.9°.
Find the height of the building.




The diagram above shows a solid structure that is formed from two identical cones and a
cylinder. The cylinder is attached to the bases of the two cones.

The cone has radius 3x cm, height 4x cm and slant height / cm.
The cylinder has radius 3x cm and height y cm.

(a) Express!/in terms of x.

(b) The volume of the cylinder is equal to the volume of one cone.
4
Show that y =§x.

Answer [2]

BP~774
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(¢) The total surface area of the solid structure is (200— x)7z cm?.
Write an expression, in terms of x, for the total surface area of the solid and show

that it reduces to 38x% +x—200=0.

Answer [3]

(d) Solve the equation 38x> +x—200 =0, giving your solutions correct to 2 decimal
places.
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9 David will travel on his own for a holiday day trip to Australia. He is planning to rent a
car for a total of 9 days for the whole trip.

Hotel

IR N
0 O
\/O

v

Airport

Map scale 1 1 500 600

(a) David plans to pick up his rental car from the airport and drive from the airport to
his hotel. He uses the above map, drawn to scale, to plan his way to the hotel. The
above map has a scale of 1 : 500 000.

(@)

(i)

Measure and estimate the total distance that David needs to drive from the
airport to the hotel.

Assuming that David will drive at an average speed of 65 km/h from the
airport to the hotel. Calculate the time he will take to drive from airport to
the hotel. Give your answer correct to the nearest minute.

ARSWer .ooiiiii e minutes  [2]

BP-776
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(b) The information below contains the different costs of renting a car in Australia.

Rental charges for car.
Type of vehicle Daity Rental Cost Mileage
{Excluding petrol and charging costs) {Distance
Lessthan7  |Lessthan30 | More than30 | travelled based
days days days on vehicle type
Petrol Car $125 $112.50 $93.75 10.3 km per
(5 seater) litre of petrol
Petrol Car $170 $153 $136 8.7 km per litre
{7 seater) of petrol
Electric Car $198 $178.20 $158.40 5.25 km per
{5 seater} kWh of charge
Electric Car $220 $198 $165 4.54 km per
(7 seater) k'Wh of charge
Taxes

» 10% Goods and Service Tax (GST) on all
purchases of goods and service in Australia.

Petrol and charging cost

Price of petrol: $3.10 per litre of petrol (excluding GST)

Charging cost: $1.25 per kWh of charge (including GST)

BP~777
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(b) David estimates that his total driving distance for the whole trip will be 850 km,
including the journey to and fro from the airport to the hotel.

After some calculations, David concludes that renting the electric car (5 seater) is
the cheapest option for his whole trip. Do you agree with David?

Justify your answer with workings.

Answer [6]

END OF PAPER 2
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3
Answer all the questions.
Calculat
@) ouate 8x0.6
Write your answer correct to 4 significant figures.
~0.01728 —-eermm- —B1
Answer
(b) Wit your answer to part (a) in standard form.
~1.728x1072 <eeermB1
Answer
Expand and simplify (2x+3)3+ 4x).
(2x +5X3+4x)
PO P |- W, 1) — M1
=8x? + 26 +15 wemee —Al
Answer
Solve
(@) 3-4x=21.
3-4x=21
—4x=18
x=- 2 or IA.»L or —45 —m———Bl
2 2
Answer
(h) 2x<3x+l=ld,
2x <3x+1<13
2x<3x+1 Ix+1<13
—x <l 3x<12
x>—1 XE4 e —M1
—I<x < 4mm—m-Ald
Answer

4 (a)
..... et erereeeaen 1]
(b)
............ e 11
............ e [2]
.......................... [1]
et o I

4

Express 4312 as a product of its pnme factors.

2 x7? x11 rme—B1

Given 588=22%3x7%.
Find

i)  The largest integer which is a factor of both 588 and 4312.
196 -—B1

ARSWEF i

{ii} The smallest integer which is the multiple of both 588 and 4312.

12936 —-———B1

2 Bl

(1]

(13

(1)
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8  The table below shows a multiple-choice test Sam and Roger took.

Correct No attempt Incorrect
Sam 14 5 1
| Roger 15 0 5

(a)  Represent this information in a 2> 3matrix, 8.

14 5 1
-} |
15 0 5 §=

Answer [1]

(b)  The marks arc awarded as follow:
Correct = 2 matks
No attempt = 0 mark
Incorrect = —1mark

Represent the information in a 3x 1 matrix, T.

Evalaate 8T
2
T=| 0 [——-—sumrmmemrae— M1
-1
14 5 i 2 27
0 |= JE—— |
15 05 25
-1
Answer 12}
(¢}  Explain what your answer to (b) represents.
Total score Sam and Roger get respectively-——--—--—~-——-B1

9  Tactorise completely.
(a) abc-3c-6+2ab

abc—3c—6+2ab

=gb¢—3c+2ab—6

=c(ab—3)+ 2(ab ~3) ---—rmmmm—] Ml

= (ab-3)}c+2) —meer—Al

e [2]

®  goy*—5

80x* -5

[ ) | pR— |

= 5(4x% + D) (Ax2=1) —emrmmmm e M1

= 5(Ax% + I2x +1)(22 = 1) smemmmmer e Al

Answer oo [3]

10 Ken divides his monthly salary into daily expenses, spending and saving in the ratio 3:4:5
respectively. Later he decides to spend $1200 more daily the new ratio become 9:8:7.
Celculate his monthly salary.

3:4:35

6:8:10 ~————mumen] M1

3 units represent $1260 ----——-————--M1
1 unit represent $400

24 units represent 24 > $400 = $9600 ———-—r——Al
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11

13 The diagram shows a quadrilateral FXYZ.

{c) Any poiht on the ine - M}

()
b
(¢

X

W | z

oy W
s

RRU Y

Construct the perpendicular bisector of XY.
Construct the bisector of angle WXY.
Paint A in the quadrilateral is equidistant from X'and ¥ and is closer to the line WX

then to line X7
Mark and label a possible lecation for point 4 in the diagram above.

(1
11

(1]

12

14 In the diagram ABC is a straight line, BC = 10 em, Ch=8cmand BD =6 cm.

C

10 cm

6 cm

D

(3)  Explain why a circle that passes through B, C and D can be drawn in the above
diagram.
Give reasons for each step of your working.

Answer
BCY =100
BD? +CD* = 64+36
=100
BD+CP? = BC? oM
by the converse of Pythagoras' theorem
angle BDC is 90°———-————-M1

a circle that passes through B, C and D can be drawn
{(angle in semi cirele)———=—m. Al

(1

(b)  Hence find the exact value of cos ABD
I.M [ - 3 |
5
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17 (@)

{b)

15
Simplify.
@

6
x27a
3a?

®

Answer ...l e 121

49%4
q.w

=1343*  Find an cxpression for b in terms of @ and <.

492
q_w

m..&|nul_~_uo e e M1
q_w

¥, D [ P RERER————— M1

[JRV PSR SU—— Al

=1343%

16

18 ABCDE is part of a regular polygon which has an exterior angle of 20°. CDILM is a square.

Fmd

@

{b)

C D

the value of x,
ZBCD =180-20

Y| pe— M1
x=160-90
| J—— |

Answer

the value of y.

/MBC = _moMqo

By J— ¥ { |
y=160-55
) J— Y |

Answer ..o [2]
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1%

91 The first four terms in a sequence of numbers, x1, x2, X3, X4, ... ar& given below.

#=20)+1=1
=21y +3=5
x=2(2)+5=9

x»=23)+7=13

(a)  Write down an expression for xs.
17 ——=————B1

(b)  Find an expression, in term of #, for the a' term, x», of the sequence.
%, = 2An—1)+1+ An—1) oM

=2n-2+1+2n-2
=4i =3 —mimr——A]

Answer ...
(¢) Evalnate xo
Xy = iNB -3
=77 ——asermm—B1
Answer

(d)  Explain why 203 is not a term of this sequence.

Answer
x, =4n-3
203 =4n-3
4n =206
n=>51.5
Since n is not a positive integer, [1]
therefore 203 is not a term of this sequence [1]

iy

(2]

20

22 A survey was carried out to find out the number of emails received ina week by each of a
group of students.

The table below represents the result of the survey.

(a)

(b)

©

)

Number of emails (r) Frequency
0<n<10 3
10 n<20 13
20<n<30 25
30<n<40 30
40< n<50 18
50<n<60 6

Find the probability that two students, chosen in random, both received at least 40 emails.

HBB Ml

100”99

=46 Al
825

ABSWEr i 2]

Which interval contain the median number of emails received by the students.
E VTS LT | F——— Bl

Calenlate an estimate of the mean number of emails received by the stdents.
1+ Y J— - |

Answer ... P, m
Calculate an estimate of the standard deviation.
=13.1 —swusmmrmm-Al
Answer e v [2]
END OF PAPER 1
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School - Mathematics Department

2024 4ESN O Level Prelim EM Paper 2 Marking Scheme
’ b
50000 T.T.iw = 65320 M1 | Ml: forming equations
100 using compound interest
-
© T+a& =1.01927 M1 | Mi: 101927
r=1.92744
r=1,93% {to 3 sf) Al
Discounted price in THB
56000x0.85 = 47600 THB
Total cost in THB
47600 THB (after
47600x1.02 = 48552 THB M1 | discount) and Multiply by
D) 1.02
Cost in SGD
48552 it
T 2716 .
—1787 6288 Divide by exchange rate
=§1787.63 (to nearest cent) Al
y=x+ m -7
X
@ eu?m-.\um_
ko=—~1 B Bl
Plotting of graph
’ ) G1 | Gi:0-4 pomts plotted
’ ’ correctly
G1 | Gl1: all points plotied
correctly
Gl | Gl: smooth curve
(b)

2024 4E5N O Level Prelim EM Paper 2 Marking Scheme
H+Mnu
X
x4 -T=8-7
x
y=-2 M1 | M1: draw y=-2
Intersection points
© L. |
g _ :
/ = (115618800112405. -B.-(3.61BU3MBASEED, -2 _,
TN . i
x=14101 Al
x=36101 Al
Drawing of suitable tangent line at (4, —1.8) M1
) [
{@ :
S R ‘ s
Estimated gradient = Al
0.688+0.1 (3sf as its an estimate of the gradient)
k+M}qnl.x+u M1 | Equating both equations
x
B 45-Tr=-x"+3x
25 ~10x+5=0
(&)
= __ Al
P=2and Q=-10 el
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Woodgrove Seconda School - Mathematics Deparfment

2024 4E5N O Level Prelim EM

Paper 2 Marking Scheme

P@=0Q-OP
—

%Muqv;q:wu
PO=4p+8r

Bl

(i)

PR -0R-0P

Ea 4r -3p
m.w =-3p+4r

PB 3

PR 5
or SN
FPB= Wx (—3p +4r)

-
mﬁvlw._:mw
it 5

-5
OB Qullm_:mum-.

& ||~.+|..+u__

Ml

Al

-2
M1: PR=-3p+4r

-
MI1: WWIIM_:W-.

@

Points O, B and ( are not colinear because OB

cannot be expressed as a scalar multiple of 00

Bl

(@)

AC? = AB* + BC? - 2(ABYBC)cos ABC
AC* = 7007 + 5507 — 2(700)(550) cos115
ACt =1117916.062

AC =105732m (shown)

M1

Al

Cogine rule

2024 4E5SN O Level Prelim EM Paper ? Marking Scheme
P(both more than 80kg) M1 | Ml: multiplication of
60 " 260 probability
poo 400
239
400
*+Also accept
8191 189 a1
8008001600
61| ® 1 5 (345 3+5) (8
Ml: O4= =
o4= T:L @ Mt 8-4) \4
o Al
|04 = V6416 = /80 =8.94 (to 3sf)
Gradient AP = Gradient PB
10-4_10-8 .
% =3 M1 | Ml: equating the
" gradients
i) | 6x-18-2k-16 Also accept AP =1PB
4k =2 where A4 is a constant
1
k= 3 Al
- -
Qim - Ok+ RO
b @ O =4r+7p+4r B1
QIW =Tp+8r
iy | > — —
|
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Woodgrove Secondary Scheol - Mathematics D artment

2024 4E5SN O Level Prelim EM Paper 2 Marking Scheme
Time taken in ming Time taken in mins
r M1 | Calculating time taken in
HMXGOHMO.M mins ¢ "EX%OHMQQE mins 8
. 65 65
(if)
Time taken : 51 to 58 minutes (accept ans within Al
Tange)
Electric vehicle
Daily rental : 9 days X 178.20 X 1.10 = §1764.18 | M1 | M1: calculating daily
rental with 5 seater
Charging cost. electric car
850 M1 | MI: calculating total
=%33 x1.25=5202.380 charging cost
Total cost for electric vehicle (5 seater) .
=1764.18+ 202.380 MI1: total cost for electric
=$1966.56 Ml | car
®) Petrol vehicle (5 seater) . .
MI: calculating daily
Daily rental : 9 days X 11250 X 1.10=$111375 | ML | rental with 3 scater petrol
car
Petrol costs
250 M1: calculating petrol
uawx?ﬁcx:ouwwmﬁhoq M1 | cost
Total cost for petrol vehicle (5 seater)
=§1113.75+ $281 407
=$1395.1577
=$1395.16 (2 dp)
No, the cost of electric car is higher than petrol
car, hence David is not correct. Al

END OF MARKING SCHEME PAPER 2

[1




